m; [GeV]

= T1tttt(2100,100) -
-CMS

600 — Simulation

__Preliminary

ff (11) [p=0.04] + ft (2I) [p=-0.002]
AL ik

| | T T 1‘-|' T

700

A

137 fb™ (13 TeV)

<« ”
>

>
>

500

-AJ
Py
N

v mh A A A
2 o 4 A ]
A A v
= A, v
n
A A A AA*‘VA N
400 A Aoa A
m A A A gans A4 A v A v v
A
A [ A A A
./ al AAAA.:AAA AIAA A . m A
A A4 ~AA.A v, A . v A
. l“AAA‘A‘AlAA PO AN A / N
300 LAl T T .
A

200

v v

A
ﬁ'lllll‘ll'llll

VA A
Vv

[
[
[
[
[
[
[
» ]
<m
)

v
v Yavy
AR AN vy v

100

¢ v
\4 vy
)/ v
ol 4
w Y

0 200 400 600 800 1000 1200

R 1 M, [GeV]



	Contents
	Page 1


